intervals in R
(interval graphs)

A

- >
\J

. segments in R?
arcs of S

(circular arc graphs)

boxes in R?

> - =

1 v :
chords of 5 chords in R x {0,1} frames in R

(permutation graphs)

(circle graphs)



Proposition 3.13.
T tree = {1; C T | T; subtree};c; has the Helly property.

Theorem 3.14.
For every graph GG = (V, E') the following are equivalent:

G is
dtree T'= (Vp, Ep), {T, CT |v €V, T, subtree}
such that
(iii) dtree T = (Vp, E7) such that
Vi =4{X C V| X inclusion-maximal clique in G} and
YVoeV K,={X eVr|ve X} induces a subtree



Chat Systems

SYSTEMS.

T HAVE A HARD TIME KEEPING TRACK OF WHICH CONTACTS USE LHICH CHAT
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